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Problem quickname: 2601

1)
Quick:
2601

Calculate the result.

a) (+9.13) − (−0.2) = 9.13 + 0.2 = 9.33
b) (+7.76) + (−7.2) = 7.76 − 7.2 = 0.56
c) (+8.71) + (−9.85) = 8.71 − 9.85 = −1.14
d) (+7.69) − (+8.11) = 7.69 − 8.11 = −0.42
e) (+1.78) − (+5.48) = 1.78 − 5.48 = −3.7
f) (+4.62) − (+0.05) = 4.62 − 0.05 = 4.57
g) (+9.68) − (+0.33) = 9.68 − 0.33 = 9.35
h) (+0.97) + (−8.13) = 0.97 − 8.13 = −7.16
i) (+6.91) + (−3.39) = 6.91 − 3.39 = 3.52
j) (+7.69) − (+9.89) = 7.69 − 9.89 = −2.2
2)

Quick:
2601

Calculate the result.

a) (−0.947) + (−0.015) + (+0.043) = −0.947 − 0.015 + 0.043 = −0.919
b) (−0.996) + (−0.001) + (−0.001) = −0.996 − 0.001 − 0.001 = −0.998
c) (−0.138) + (+0.907) + (−0.261) = −0.138 + 0.907 − 0.261 = 0.508
d) (−0.506) + (−0.112) + (−0.111) = −0.506 − 0.112 − 0.111 = −0.729
e) (−0.634) + (−0.086) + (−0.195) = −0.634 − 0.086 − 0.195 = −0.915
f) (−0.072) + (+0.102) + (−0.944) = −0.072 + 0.102 − 0.944 = −0.914
g) (−0.332) + (−0.132) + (−0.411) = −0.332 − 0.132 − 0.411 = −0.875
h) (−0.679) + (−0.073) + (−0.167) = −0.679 − 0.073 − 0.167 = −0.919
i) (−0.902) + (−0.035) + (−0.052) = −0.902 − 0.035 − 0.052 = −0.989
j) (−0.733) + (−0.082) + (−0.134) = −0.733 − 0.082 − 0.134 = −0.949
3)

Quick:
2601

Calculate the result.

a) (−3.97) − (+2.66) − (−14.1) = −3.97 − 2.66 + 14.1 = 7.47
b) (+16.26) − (+8.1) − (+7.22) = 16.26 − 8.1 − 7.22 = 0.94
c) (−5.93) − (−17.35) − (+12.99) = −5.93 + 17.35 − 12.99 = −1.57
d) (+11.08) − (+17.42) − (+10.21) = 11.08 − 17.42 − 10.21 = −16.55
e) (−1.54) − (+5.1) − (+11.12) = −1.54 − 5.1 − 11.12 = −17.76
f) (−1.96) − (+5.65) − (−11.28) = −1.96 − 5.65 + 11.28 = 3.67
g) (−15.43) − (−3.84) − (+5.01) = −15.43 + 3.84 − 5.01 = −16.6
h) (−0.83) − (+9.38) − (+3.6) = −0.83 − 9.38 − 3.6 = −13.81
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i) (+10.65) − (+1.44) − (+18.83) = 10.65 − 1.44 − 18.83 = −9.62
j) (−17.24) − (+0.47) − (+0.98) = −17.24 − 0.47 − 0.98 = −18.69
4)

Quick:
2601

Calculate the result.

a) (−0.83) − (−0.9) − (+0.45) − (+0.56) = −0.83 + 0.9 − 0.45 − 0.56 = −0.94

b) (−0.26) − (+0.18) − (+0.16) + (+0.44) = −0.26 − 0.18 − 0.16 + 0.44 = −0.16

c) (−0.54) + (+0.06) − (+0.04) + (−0.09) = −0.54 + 0.06 − 0.04 − 0.09 = −0.61

d) (−0.33) + (−0.13) + (−0.14) + (−0.28) = −0.33 − 0.13 − 0.14 − 0.28 = −0.88

e) (−0.75) − (+0.05) − (+0.09) + (−0.06) = −0.75 − 0.05 − 0.09 − 0.06 = −0.95

f) (−0.87) + (−0.03) − (+0.04) + (−0.02) = −0.87 − 0.03 − 0.04 − 0.02 = −0.96

g) (−0.42) − (+0.11) + (+0.13) + (−0.16) = −0.42 − 0.11 + 0.13 − 0.16 = −0.56

h) (−0.87) − (+0.02) + (−0.02) + (+0.58) = −0.87 − 0.02 − 0.02 + 0.58 = −0.33
i) (−0.59) + (−0.11) + (−0.13) − (+0.06) = −0.59 − 0.11 − 0.13 − 0.06 = −0.89
j) (−0.93) − (+0.02) − (+0.02) + (+0.7) = −0.93 − 0.02 − 0.02 + 0.7 = −0.27

Good Luck!
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